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After White's hane at 15, if Black plays hane at 16, a complicated
variation is expected. The sequence up to 306 is even.
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Dia. 1: Black is behind
R o] 2, R T2 W52 &
o] #& it

After White 1, If Black plays
at 2 and 4, White plays at 5,

Dia. 2: Sacrifice strategy
1o wo] 28 #l&= AL o

2 %] 302 W} A4EHoz 7}
£ 7F gt

After Black 1, White's wedge
at 2 is bad. Black can
extend at 3 and sacrifice
his group.

Dia. 3: Black is slightly shead
Fol 12 Y of ol 22 W 2e
Z30% Jo| A7k g2H

Afrer Black's hane at 1,
if White pulls back at 2,
Black is slightly ahead after
defending art 3.
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White 3 and 5 are Al's favorite moves. Black 6 is another Al move
and the variation up to 8 is a new joseki.
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Dia. 1 Shw
BAE 1o Ko 2, 42 FHoL
Al Bo) fpa} 32 gt Jock

In the past, after White 1,
Black used to play at 2 and
4, but Al thinks it is not
good for Black, because
Black ends up in gote.

Dis, 2 Potential
HE Lo dHGE BN 22 E
% fgvch Fs5 o-g A Adq
EIL (=4

After Black 1, for the future
development, White can
play at 2. After Black 5, it Is
possible for White to play
ar A,

Dia. 3: Defense
B1 g Wo] 22 uAEe AT 2
£ 29U

After Black 1, defending at
2 is also good.
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T2 W3, 50 622 9= & 7ReEch £12744 A4t

Afrer White 3 and 5, Black 6 is also possible. The variation up to
12 is a joseki.
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Dia, 1: Black's Choice
%& W10 22 S 45 geut

Against White 1, Black can
also play ar 2.

Dia. 2: Black’s Choice
E2 Wid] 22 ¥§ 4% 900 9

£ 308 ANAY £8 1 4 b
e},

After White 1, extending at
2 is also possible. White can
either defend at 3 or play
elsewhere.

Dia, 3: The Most Common Move
E2wd 22 go] FuUct

Against White 1, Black 2 is
the most common answer.
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After White plays at 3 and 5, Black can also extend at 6. The
sequence up to 11 is even.
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Dia. 1: White is i'.-ﬂd
E12 & of We) 22 9 E302
s Ad R27F 474 o] fag
gyt

When Black plays at 1, if
White answers at 2, Black
plays at 3. Black has an
extra liberty at A so this
result is better for Black.

Dia, 2: KuT'hma‘t
di& 7o) gobd 1, 38 §E 9
o syt

If White has many ko
threats, White can make a
ko with 1 and 3.

Dia. 3: Thickness
e Lo 22 w4-f A3 FdA
£ +E eyt

After Black 1, the thick
move at 2 is possible for
White.
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2o wse] 6o gol Fol W72 @AW v B 74 o] gl 8, 100)
Sueye.

Against White 5, Black 6 is often played. After White connects at
7, Black has several options. One option is playing at 8 and 10.
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D.ia. .1: Peap
i joff B8 utE AR Foldd 5 9

o sl ¥FUt
(AL AL A7 2 () 1785 22

After White 1, Black can
immediately peep at A and
the variation becomes very
complicated.

Dia. 2: Safety
Me el 12 GAnk § 4%
sl

White can simply play at 1.

Dia. 3: Other variation
Zedicf22 A R A+ERALE
& 954

After White 1, Black can
push at 2 to get sente.
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